FORM FOUR CLUSTERKCSE MODEL 6
MATHEMATICS PAPER 1 ANSWERS

SECTION 1 (50 Marks)
ANSWER ALL QUESTIONS
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Solve the inequalities:
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Find the value of x 1n
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~0(3.51.4)
12x+12y+7=0
4x—-3v-—7=0
12 +12y=7=x3
12x =12y =-7
12x -0y =21 M1
21y =-28
o4 __41 Al
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dx=3v+7
4_1:=3| 4+?|=E
4 7
x=§ and _jl,r=—1l Al
4 3
SECTION 2 (50 Marks)
ANSWER ANY FIVE (5) QUESTIONS IN THIS SECTION
SECTION E(50 MARKS)
P=[! 1| La 32-35=-3
a
@ p 1 5, 7] MI1A
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() Cost matrix
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(a) Area— % 2030 + 60) = 902’

" =45 =10 =8900m"
=450=10°
= 90,000
() Calculate the total internal surface area of the pool.
AB =+20" +3.0°
=400 +9
=202237m
Perimeter = DA+ A+ DC
=202237+30+60
=2022
5.4 =(2922x10)+2(20)
=2022 +180
=472 2

(c) Find the angle at which the bottom of the pool inclines.

tm5=£=ﬂ‘_3
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=0.478"
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